KK %5%11004524H

» BPERITE 124 i 4-M8x1.25Px15DP

110 2xm-M2.6x0.45Px4DP 435 | | 2xn-@9Thru, §14x8.5DP
% N /

95
- ] [ — Q‘J
® &
: E=E g = s P
2 SMEIE e | te e | PBLL
REYE —— T s
s 4-M3x0.5Px6DP |~ !
AA ] 9
99 _ 4-M5x0.8Px10DP 27 345 ~
75 15 2 S
/\> —t— —A P )
R T I i
. ) e T
+ / + + ==
& L8 7 i) 7 E
¥ 150 G f
LA -9 |51
‘ (n-1)x150 View B
KK100-980A1-FO ‘
s FEPERTE 142.6 _ 4.M8x1.25Px15DP
70 2xm-M2.6<£).45Px4DP 50 _ 20x1.5DP 2/xn-®?Thru, @14x8.5DP
[ T == — Tt
| @ || —o H[eLJ&oH I ——
1o} 31 ] [ 3D | X 0
©it =3 T e || To Aleroeh @.‘LEL
T . ”/  — 3 s »L [y
50 |25 4-M3x0.5Px6D
A 200 H
> !
A-A L1
» 4-M5x0.8Px10DP 94 e
Lo 99 27 45 | =R
% 1S5
75 15 _Lzz N
= %‘e - —A ¥ —t
|z mﬁf‘ = II . i 5 g |
SIS LR . ~ . | z B ==
L © J L8 7 i) T -
g w
A 150 G|
~ | KK100-980A1-FO - (n-1)x150 View B

: o B |MEKEL 21| BATEMM) | 6 | H | n | m EEke RE(mm/sec) |EMHEEMM)| H |S¥HE
RISE i | om) | om) [AUREE [ a3z | (M) |(m) | ()| (mm) AT | omE | BER | —RE| BEE | N | )
980 | 1089 | 828 | 700 | 40 |90 | 7 | 5| 18 | 203 | 1120 | 800 0,055

*igé& 7080 | 1189 | 928 | 800 | 15 |40 | 8 | 6 | 203 22 | 980 | 800 :
KAK | 20 ﬁc 1180 | 1289 | 1028 | 900 | 65 | 90 | 8 | 6 22 237 | 750 | 750 0.04 31458 | 622
100 _gpuy| 1280 | 1380 [ 1128 | 1000 | 40 [40 | 9 | 7 | 236 | 253 | 510 | 630 0.045
1380 | 1489 | 1228 | 1100 | 15 | 90 | 10 | 7 | 253 27 | 440 | 530 0.05
s KAK100-20-C-1180A1-F0-H -,
i P ZHADelivery
e e e e
. — KAKA00 2 PFEER| 980 Al:1 FO H:BiPE 6 x| BB
BIEEIRIT S C:—BR 1080 A2:2 F1 C: Ttz O @A GEAEEAE

P393



